PHYSICS INTRO: SOH CAH TOA & PYTHAGOREAN THEOREM

H ) A Right Triangle is a triangle with a right angle or 90° angle.
¥ This is a right triangle and the symbol for the right angle
is shown here.

B=33°

x=47Tm

In this problem we are trying to find y, Hand 82=7

We could use the fact that the interior angles of a triangle add up to 1307, like this:
6 +0,+90°=180"=6,+6,=90"=6, =90"-6, =90°-33°=57°

However, because we are trying to review 30H CAH TOA and the Pythagorean Theorem, let's not do that
this time. On a quiz or test, you certainly should, however not right now.

o A 0 4 6
S0OH means sinf = —; CAH means cosf = — & TOA means tand=—
H H A
Where O means Opposite, A means Adjacent and H means Hypotenuse.
The Hypotenuse is always opposite the 907 angle. I_
]
To find the Hypotenuse we can use CAH: H
A 2 47 47H
c0sf = — = c0s6, = l=:\~t:c:s{':‘r?r}= — = Hecos(33)=——
H H H s H
H cos(33 47 47 6
= Hcoz(33)=47= { ]: =H=— N
cos(33)  cos(33) cos(33) A

H =56041=56m|

To find y we can use the Pythagorean Theorem:
c b a+bt ==+ =H =2y =H -x*=y=yH =&

= y=+56"—47" =3.0447 =3 0]

To find 8; we can use TOA:

0 47
ta_nS:E::stanQ::E:
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Remember, 30H CAH TOA and the Pythagorean Theorem enly work on Right Triangles.

= tan” (tan®, ) = tan"l[ sl ]



